Key figures AHV/1V/BVG/UVG /@

all amounts in CHF, multipliers in % SwissLife
26460.—
90720.— BVG coordination 64260.—
offset

max. coordinated

max. applicable

AHV salary & A _r  BVGsalary
5 x300 x87.5 x212.5 5
= _ 22680.- =
e min1ASI-;I\lzqe'nsion<_ x50 30 2’40-_ x75—> BVG entry "'n-
= : P maximum threshold &
AHV retirement
30240~ <100 ¥12:55 3780.-
max. AHV pension 148200.— min. coordinated
max. insured UVG salary BVG salary
x120
Pillar 3a
with 2" pillar annual max. tax- without 2" pillar

7 258.- deductible amount 36288.-



Permanent Benefits payable to Retirement benefits
disability surviving dependants
2 Degree of disability | Pension
=
; 270% = Full pension (100%) Widow 80% Simple pension
< >50% = Pension corresponds to Half orphan 40% +min. CHF15120.-
degree of disability (e.g. Full orphan 60% - max. CHF 30240.-
_ 55% = 55% of pension) ofthe ALY
g 240% = 40% degree of disability =  Widow/Widower 60% +Annual pension
m 25% of pension Orphan 20% or
41% degree of disability = of the disability/ + lump sum
27.5% of pension* retirement pension (=retirement savings)
k>7 100% = 80% of the insured Widow/Widower 40% "
35 salary Half orphan 15% ]
<100% = proportional Full orphan 25% I
reduction Upper limit 70% 2 02 5 R

*Each 1% rise in degree of disability increases the pension by 2.5%

of the insured salary



